B AT @ T 9o
¢> I FITE fAdBAr 2R 55 Go6RI 058

TERIPIE; X IO

Afdo

5. x2+y2 =4 T dyldx Fo2 (A) 2x+2y, (B) -xly, (C) y/x, (D) 4-2x
2. J(xdy+ydx)=? (A) x+y, (B) 2xy, (C) xy, (D) FTADBR 77

. 7N @ 8N %f5 3 =775 tan-\3 et fer 3w, o Fo7
(A) 12, (B) 13, (C) 14, (D) 15

8. U &mg 3o P ¢ Q I T TR @it i I T3
(A) P=2Q, (B) 2P=Q, (C) P=Q, (D) 1Az 7=

¢. 3% m/2<a<n 9= Sin a =4/5 3 tan a=?
(A) 3/4, (B) 4/3, (C) -3/4, (D) -4/3

v, 0 TH 73IF FACT T PRI (TG ASTR FWRA! F67
(A) 1/4, (B) 112, (C) 1, (D) 3/4

a. (110)2 -3 THTSRENE =9E @A (A) 6, (B) 7,(C) 8, (D) 9

. aF IF 93 1% 144 Ty Rag 361 10% 5 = 1 Fo b Ray
T 10% =11 @ (A) 146, (B) 156, (C) 166, (D) 176

. &g 306 wrefds k4 o6 Fo2(A) 465, (B) 15.5, (C) 30.5, (D) 31.5
vo. TffF 24 - 2x+2 = 3 Bigre x-93 817 F97 (A) 0, (B) 2, (C) -1, (D) -2
5. 4,5 a 12-97 vg¢ St &3 F9 1 (A) 10, (B) 15, (C) 18, (D) 20

5. p=336 <R nc=56 T, n-93 T w39 |
(A)6,(B)7, (C) 8, (D) @b 71

yo. (TR SERRs (A) 5,25, (B) 3,15, (C) 7,15, (D) 7,14

8. Cos A=4/5, Cos B=3/5 =, Sin (A+B)=?
(A)0, (B)-1,(C) 1, (D) IR 7

s¢. Sin 204003 7 731 (A) V312, (B) -\312, (C) 112, (D) -1/2

>b. o9 ARR Ay w3 39 cvaw 10n
(A) 57, (B) 107, (C) 7\10, (D) 2nV10

34, 9x2+25y2=225 Tijras Ty A 9
(A) 0.+4, (B) 0,43, (C) +3,0, (D) 4,0

st I y=Sin x =8, y&=? (A) y1, (B) y2, (C) y3, (D) y

3. 160 5@ 93 G 5/ 40 R @t 57 | o 79w 140 o7 vt a5
wrioee siftam Fa2 (A) 27s, (B) 28s, (C) 29s, (D) 30s

20, 4x+3y+16=0 & 4x+3y+26=0 @41 767 T33! 7@y Fo7
(A) 10, (B) 2, (C) 5, (D) oIz 7w

2. (1237)10 - 33ARTS 8P 39 |

4 fAIA: box8=030

(A) (10010011001)z, (B) (10011010101)2, (C) (10100110010)z, (D)
@FAGE 78

2. =7 (A)i, (B)-, (C) 1, (D)-1
0. Vi+V-i=? (A)V2, (B) V3, (C)-V2, (D)-V3

38. X242x-1=0 AL T agfo 2
(A) 5, (B) &S, (C) 914 @ SPFH, (D) 9189 @ T

¢, wi=2 (A) w2, (B) w, (C) 1, (D) 0

v, 3x2-2x+1=0 SR Feaces o i voe
(A) 112, (B) -112, (C) 2, (D) -2/9

29, T 2x+3y=4 G x-y=7 T, (X,y)-99 qF FG?
(A) (5:-2), (B) (-6.2), (C) (7.-2), (D) (-5.-2)

3. Cos 36 -«93 917 @Al w32 (A) 2, (B) 1, (C) -2, (D) o«

<5, 3717, (0,0) ¥ (x1,y1) R g 7
(A) (ey2), (B) V(x-y2), (C) Vixi2y12), (D) (xiz#yi?)

o, (1,-2), (3,3) 9 (-3,2) Rrperetics M3+ v (3 frem o w1 oF cvaws
o 9352 A) 13, (B) 16, (C) 14, (D) 15

0y, K-7 87 0 0T 5x+4y-6=0 g3 2x+Ky+9=0 791 7% >wreais 732
(A) 8, (B) 5, (C) 85, (D) 5/8

03, X2+y2+2gx+2fy+c=0 T (T X-SCT 9°F FRFO T,
(A) ¢=0, (B) g=0, (C) =0, (D) x=y

00, 16x? + 25y? =400 T¥ieas Sewfieol Fo7
(A)3,(B) 5, (C) 5/3, (D) 3/5

08, x2-2x+5 -3 qTod §9 F6? (A) 5, (B) -5, (C) 4, (D) -4
o¢. [8x7dx =F5? (A) X8, (B) x8+¢, (C) -x8, (D) -xB+¢

ou, % (F,d) 930 Lid 0 O ofF S 717 F0°
(A) F+d, (B) F-d, (C) Fxd, (D) Fid

04, TAFFY y=x tana.(R-X)/R Fom wlw11 aan 362
(A) 3B, (B) *rargg, (C) Trg, (D) wfge

ot f PRt 936 G o Totx, T SR TO R AN T 961 2f
ot S BT AR (A) fi(g-21), (B) fi(2g-), (C) f(g+21), (D) fi(2g+f)

s, 7 0.375-3 fafds =47t $07
(A) 0.011, (B) 0.010, (C) 0.100, (D) 0.101

80, AR *mfees 1000.1 - 1.01 =%
(A) 110.01, (B) 111.01, (C) 110.10, (D) 111.10

8. log22=? (A) 0, (B) 1, (C) 2, (D)

se



83, A 8 B @ &It 4f© o6 =, A-B=?
(A)ANB', (B)A'NB, (C) B-A", (D)A&C

80, BT FRUTH THHGS G BT FAG oI ?
(A) ZCNCQCR, (B) NCQCZCR, (C) NCZCQCR, (D) Ao 77

88, b aEeres F o Ao A
(A) 28, (B) 48, (C) 20, (D) FIEAMDIZ 74

8¢. -T+24i a7 T (A) 3+4i, (B) 3-4i, (C) +(3+4i), (D) FEADE 78

8o, X2+y2+4x-Ty+12=0 78 $G2 Y WCF FB0 W 67
(A)1.(B)3,(C)4, (D)7

84. Sin 8-93 @® 752 (A) (-1,1), (B)R, (C) R(-1,1), (D) IR 7

8t 2V3 cm 3 e TR fregem ~fRaeid 302
(A)1cm, (B) V3 cm, (C) 2.cm, (D) 2¥3 cm

g%, 3B THARY TFT IO A T (@F A 9 (a,p) B e 3w
@ sisa
(A) x3+y3 =a+B3, (B) x+y =a?+B2, (C) x+y =a+B, (D) x-y =a+B

to. Lim o (14X)1%=? (A) e, (B) 1,(C) 0, (D) e
SERIED

¢, SR & wrog wih 73T T @
(A) 7, (B) T, (C) =R, (D) 7o @ S0

¢x. AFEST @ o e T tofde
(A) =fF3@, (B) T3, (C) w3313, (D) @IAEDR 73

0. 52U RERFIeT ARG w4yt 7o (A) 92, (B) 235, (C) 327, (D) 143

¢8. 9 (TR AT 1T WY 1 =T A 97 Y T
(A) 0.963 year, (B) 0.693 year, (C) 0.8 year, (D) 2 year

¢¢. AT THOR 9% (A) 7054, (B) w7, (C) 9l6, (D) et
ev. @A RREFT @Ero (A) aeied, (B) =g, (C) R, (D) @b

@9, AT THFEI G TR
(A) s, (B) =R, (C) Rfemm, (D) ARG

¢tr, 90 7@ BrFol 7 Few AT E?
(A) =115, (B) R, (C) Sigon, (D) oo oy

¢, AET @A RS Lt
(A) 11, (B) Zeer=GA, (C) fa®gA, (D) avd

o, 4Q) @IyT 93T I I T TR T T | TOI VICH Ty &
e @ 3o (A) 40, (B) 10, (C) 1/8Q, (D) 11160

b, A GITd (R4l IR A A
(A) a-@, (B) IagIEs 7, (C) Sformed 3, (D) Ret

b, @G ofes T8 7 |
(A) SRAT, (B) 2el® (63, (C) wrrwferear, (D) G

©0, | 9% 4 | SiFo! Foof7 7b TIeH TARIGA T T ST OlFo! ?
(A)51,(B)91,(C)121,(D)151

v8. TWET TR 3D 3t efnfa 3 S
(A) W=, (B) Regad, (C) afewem, (D) Tfosr

v, 9 PRI 70 TR Ry $91 T G SR FIA:
(A) 7 =i, (B) F™ *11, (C) wrifFRfEw 4=, (D) 17 @

Yo, @A AER SrEial 1000C @ M 2000C T4 T TeE F6 o
TreEe (A) 1.13, (B) 2.26, (C) 3.39, (D) 4.52

va. 3 I 6,400 km T ~fRJA *{t¥7 6,400 km Tfo ‘g7 AT T2
(A) 2.0ms?, (B) 245ms?, (C) 345ms2, (D) 3.0ms?

. G (ATT YA B IR FHECT =iew Sigot 30dB & e ¢ 7o vt
% 2 (A) 10, (B) 100, (C) 1000, (D) 10000

Y. TIEH FOIT ST (P 77 A2
(A) o3, (B) we, (C) B3y, (D) s

qo, NG RN A% I F15 9 703 T[T =0 @it 2rez;
(A) T, (B) S, (C) swceid, (D) sHefetet

Q). (FIF S CTPTIN 8 TIEARIRE G 992 YT g eeran?
(A) 37°, (B) 36.99, (C) 40°, (D) -400

ay, Tas FEsE IR Af{ Sawe ot I @i
(A) efsma, (B) SRS, (C) saed, (D) s wreredt afbwad

qo, S IR AGETeE T TR 7 @At
(A) & =fet, (B) = &fet, (C) FMeiEe™, (D) =1l

8. SRS AT 3eEA RAUCR SHeR B& 2ERGT RT:
(A)7,(B)5, (C)4, (D)3

a¢. X% R 1 T I390
(A) witars, (B) GférG, (C) @feeSs, (D) Fmifiog

qu. 9FEA fRFOE 93 7 TS 100m ERe Ty §UO AE | 93
TN PO A (P oTd e F0 THol WO ARE?
(A) 50m, (B) 75m, (C) 100m, (D) 125m

99, 9 GRS 10m/sec e cTeitE | &1 EMw F6 77y = o
A@?  (A) 10.2m, (B) 20.2m, (C) 15.2m, (D) 25.2m

av-, 509 gt TSI @A
(A) ML2T2, (B) ML2T2, (C) ML2T-2, (D) MLT-2

s, JOIPHE M 72 km/h SPEFOfTs b «H sifeT Rl pat 1 m/s |
o1 7 IENE T2 (A) 200m, (B) 400m, (C) 600m, (D) 300m

bro. “fR%7 T FRI Ve @R BIOR SICICE JoXt Vv T AT I
T 3T (A) VE>Vm, (B) Ve<Vm, (C) Ve=Vu, (D) VesVu

o>, &S 104m 1 REE A7 5,000 T @ R @3 Joe o1 R
T3 | TR @R I F07
(A) 102m, (B) 1/10m, (C) 5x10m, (D) 5x10?m

se



r2. 1m e AB wred A &ites orarar 800C w3k B efitsd remmar 00C |
weed A &1 (3 60cm 3 oAl T
(A) 16°C, (B) 32°C, (C) 48°C, (D) 64°C

bro. T0F S A= Ao wem | @ SRER AT et o T
(A) =47, (B) 9%, (C) &, (D) w3 8
b8. e Dlgord @t AHE «FF Fo(A) dB, (B) Wm-2, (C) Hertz, (D) Wim

b G FRYAR 7] @eS Taifoa o @l 22kW Fa01 SEied |
220V FI3EE FF AR W6 $O Y IIAFA T TS 32
(A) 100A, (B) 22A, (C) 48.4A, (D) 10A

o, ( TafS00 W0 FAE GIRT ASE I I OIF T
(A) & S, (B) G aeot, (C) GIve =, (D) Iz 71

ra. 4D *MeAIET GF Tod (@F MR 9910 3D ANSANET 5o (T YT
791 T | WD T (TI FY FO T2
(A) 25¢cm, (B) 50cm, (C) 100cm, (D) 200cm

ttr. 9.2ms! & 43 T/ <10 TR e FAeeet 331 o1 | 39 oS A
oy e (A) 1.787s, (B) 1.777s, (C) 1.888s, (D) 1.878 s

brs. S0 brafics <fRFT S I =R e

(A) 36 =1f, (B) 571-317 ¥, (C) *fiwge =1fS, (D) boia =1

so. 36 I TR FOE FfAF 391 07 (A) 1.89x10- rad/s, (B)
2.81x10-8 rad/s, (C) 2.5x108 rad/s, (D) 1.45x10- rad/s"!

%Y. (PIAG TRTFTIT 2
(A) T+ 37, (B) qoE 4, (C) =gfsss 34, (D) BRI I

B3, (PG ARG Fal A5
(A) TR, (B) TocR¥, (C) T3xR?, (D) RIeAdiz

%0, S @ beaA gt R aer ol T
(A) 1m, (B) 0.5m, (C) Om, (D) =t

58, SHO! 9T TR 7T T 2
(A) nec 1T, (B) nect/T, (C) necT, (D) necNT

»e. S % T&F 1wt (A) 1%, (B) 96%, (C) 100%, (D) 98%
»b, GEPR S| @7 7 (A) kd, (B) Jk, (C) Jk, (D) J%

»9. T @I *d {FEE A @, 92 wE el (1) T
(A) locA, (B) locA2, (C) loc1/A, (D) loc1/A2

Str, Wmm@wmoocmmﬁmm?
(A) 546, (B) 819, (C) 544, (D) 273

S, qF0 @Y TR GG IR, FIF 9 G | @I AFT Fo7
(A) 10Q, (B) 100Q, (C) 100022, (D) 10000Q

yoo. 220V G A To0 (A) 220V, (B) 100V, (C) 420V, (D) 311V

ENGLISH

101. Spool:Thread
(A) Coil:Rope, (B) Bale:Hay, (C) Reel:Line, (D) Verse:Song

102. The Ambassador called the President.
(A) at, (B) upon, (C) back, (D) out

103. Correct spelling: (A) Encyclopadia, (B) Encyclopaedia, (C)
Encyclopideia, (D) Encyclopadia

104. Every member of my family __here. (A) are, (B) is, (C) in, (D) were

105. The type of clothing people wear tells others a lot about: (A) What
they are, (B) What they were, (C) Who are they, (D) Who they are

106. __ all his attempts to master the assignment, he failed.
(A) After, (B) Because, (C) Despite, (D) Neglecting

107. No one can deny that he is clever. Here deny means:
(A) defy, (B) denounce, (C) disagree, (D) oppose

108. The plot of the story is so ____that | can predict the outcome.
(A) complicated, (B) theoretical, (C) significant, (D) trite

109. 'Salt of life’ stands out in:
(A) valuable thing, (B) salaine water, (C) sobs of life, (D) sorrows of life

110. Whose quotation is this “Knowledge is power™?
(A) Galileo, (B) G W Crane, (C) Hobbes, (D) Keats

111. She looks ____than she is.
(A) more young, (B) more younger, (C) much younger, (D) none

112. Do it right away__ you will be scolded.(A) for, (B) or, (C) but, (D) end
113. There is no reason __ absent.(A) of, (B) to be, (C) for being, (D) for

114. He watched the boat ___ down the river.
(A) float, (B) was floating, (C) floating, (D) to float

115. Our school building has a good __.
(A) sight, (B) site, (C) side, (D) cite

116. One who sacrifices his life for a cause is a:
(A) patriot, (B) martyr, (C) soldier, (D) none.

117. The correct spellingis ____.
(A) Embasey, (B) Ambassy, (C) Embassy, (D) Embassi

118. Everybody should ___their old parents.
(A) look at, (B) look after, (C) look at, (D) none

119. I spent ___ with patient.
(A) sometimes, (B) some time, (C) sometime, (D) some times

120. | have read the book ___ you lent me.
(A) which, (B) that, (C) what, (D) that what

121. 1 am not leaving ___ | get an apology from you.
(A) so that, (B) as if, (C) until, (D) unless

122. Please write _____ the matter. (A)in, (B) to, (C) down, (D) away

w/e



123. Pick the correct spelling. ~ (A) Torrential rain, (B) Torrensial rain,
(C) Torential rain, (D) Torrensel rain

124. The man was ____for murder.
(A) hanging, (B) hung, (C) hanged, (D) hang

125. What is the adjective of “Carnivore”™?
(A) Carnival, (B) Camivorous, (C) Camivora, (D) Carnish

126. What kind of noun is ‘army'?
(A) Material, (B) Collective, (C) Common, (D) Proper

127. Photosynthesis takes place in the of plants.
(A) root, (B) green parts, (C) stem, (D) all parts.

128. What is the masculine gender of ‘mare’.
(A) Mermaid, (B) Bear, (C) Stallion, (D) Dog

129. My uncle has three sons, ____ work in the same office.
(A) all of them, (B) who all, (C) they all, (D) all of whom

130. Many islands make up .
(A) an isles, (B) an archipelago, (C) a peninsula, (D) a continent

131. The opposite word of ‘sluggish’ is .
(A) animated, (B) dull, (C) heavy, (D) slow.

132. Which is the noun of the word ‘please'?
(A) pleasing, (B) pleasure, (C) pleased, (D) pleaseness

133. Which is the verb of the word ‘life’?
(A) live, (B) enlife, (C) living, (D) lively

134. The synonym of genesis is ;
(A) introduction, (B) preface, (C) beginning, (D) foreword

135. What is the antonym of the word 'sympathy’?
(A) antipathetic, (B) antipathy, (C) adversity, (D) oppose

136. ‘Unable to read or write’ means:
(A) unschooled, (B) uneducated, (C) ignorant, (D) illiterate

137. What is the meaning of the expansion of ‘bottom line'? (A) final step,
(B) end of a road, (C) last line of a block, (D) essential point

138. Choose the correct spelling.
(A) Ascertain, (B) Assertain, (C) Asertain, (D) Asartaine

139. 'To read between the lines’ means: (A) To concentrate, (B) To
suspect, (C) To grasp the hidden meaning, (D) To read carefully.

140. Which of the followings is not an adjective?
(A) Humble, (B) Humane, (C) Humid, (D) Humour

141. My family and | well. (A) an, (B)is, (C) are, (D) none

142. The verb of the word new is ;
(A) renew, (B) a new, (C) newly, (D) newness

143. The word ‘since’ in the sentence “five years passed since | met you”
isusedas . (A) pronoun, (B) conjunction, (C) adverb, (D) preposition

144, ‘Life expectancy' means:
(A) High hopes, (B) Life expectation, (C) Birth, (D) How long one lives

145, ‘Squander’ means:

(A) Improve, (B) Solve, (C) Travel, (D) Waste

146. ‘To replicate’ means:
(A) To understand, (B) To enunciate, (C) To motivate, (D) To copy

147. ‘End in smoke' means:
(A) Come to nothing, (B) Catch fire, (C) Destruct, (D) Inspect something

148. What is the antonym of ‘segregation?
(A) Integration, (B) Separation, (C) Depression, (D) Tensed

149. The adjective of mountainis____.
(A) Mounting, (B) Mountainous, (C) Mountic, (D) Mountainly

150. The word ‘lucrative’ means:
(A) good looking, (B) aily, (C) professional, (D) profitable

Y Talq

3¢, AT @ IS TRFRCT TE FER (FIA0?
(A) =@ 41, (B) RS, (C) s, (D) #ATrt <1t

v¢R. I51 e FRATgo Rgros B o
(A) ¢o T, (B) 330 T, (C) 200 TR, (D) doo T

¢, [P B 9o TTfAC Ry @5 FT0 Q@RI '
(A) 9% Reeteafd 951, (B) @3 @36 <5, (C) <% fenaafs, (D) 9 o7

3¢8. (@ o7 (AT AT JAE FEE G A e
(A) 3318, (B) wMim, (C) we cifda, (D) st

yee, FiA9 (M AYFTSIE (@HEes J1P:
(A) ¢ et (B) 28 c@ret, (C) 20 @9, (D) 20 @G

Sev, R CARIEAT @32
(A) g, (B) s12ars, (C) ATy, (D) e

59, (AT AT S SAICH <X P AL T @2 (A) FHA 5,
(B) Faterser am, (C) e Aeret T, (D) 3% 5 63T

Sebr, TAT AT T [y
(A) 53+, (B) @ +9¥, (C) Std+9, (D) S +3F

e, ‘q3raEs B @ W@ war (A) oy [, (B) Ffiewm-ofes
T, (C) e @ swaed, (D) g sl

Yoo, IRFCTHT 24 NS 7R 7t @Al
(A) &1, (B) Aerest, (C) wraam, (D) Jfw

b, IRFTCI oA AZeAfET A F2 (A) 7w Tow T, (B) oA
e, (C) TF N Fe3F 378, (D) IT6T 97 TP S

YU, AT T IAIE T CBE i T T@RE?
(A) 85, (B) afF, (C) v, (D) »8f%

S0, W e i o 4ig e 2o
(A) >3 1, (B) A+, (C) OrTH4, (D) oAt

U8, (SIRITE T TR ~It3 ©iow Sz
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(A) & 9%t yo A, (B) b 991, (C) >3 7B, (D) d0 ¥%1 >¢ fA:

¢, SRR FATFOE FIro IREE F I
(A) 57, (B) cifer o1, (C) 63, (D) 356+ et

Sov. AR FAS @A A FIeA! oW T390 7
(A) cigferm, (B) 2E@Ram, (C) 9, (D) 2REsd

Y9, SRS Aigen s @I T o T
(A) yastr, (B) y»w%, (C) 2000, (D) 3005

Yo, QIREI0T & SRGE FoFRS 4 @FAfb?
(A) G- ST 3, (B) R6t 3, (C) wierwt 3By, (D) =&t 3Ry

s, @I I FHEDT A
(A) o151 2fam, (B) e 2fém, (C) 7030 2, (D) Ram 2gm

90, A TS Fob AW AF? (A) :fF, (B) 8fF, (C) ufF, (D) v

»a). ol fygm Pa oF T2 (A) > CR6T 505, (B) 3 CTHFT 2505,
(C) © 69T 5505, (D) 8 CLHTT 5505

54, |AEA-9T 5 wRd (IRIE?
(A) e, (B) am, (C) fewt, (D) 37

590, (P O 7O TAEA?
(A) o=y, (B) &1, (C) &1, (D) B

548, (F A IRATCH TG TG 0T Fam FEA? (A) FIE ASHHA
5, (B) rewia (R, (C) 7oA o, (D) o wE St

94¢. 2059 H @RI T G R FfETTe 9qfdo T
(A) Z=e1s, (B) wehf, (C) wept iy, (D) o

v, (ST SiEFE HZAT FE T’ P 2
(A) 2005 (B) 2030, (C) 203, (D) 2000

99, AR SO TRINW ANCE T IS Wi 334(6?
(A) vo, (B) ve, (C) 8¢, (D) @GR 77

vav, T @A 7 T (A) wikaga-agae, (B) aprfi-ws@iuwt, (C)
omR R5-9i07 9, (D) IR 78

9%, I (T Ry et oF
(A) >»as, (B) stroy, (C) y»ae, (D) v»aa

stro, e ARFfiGroR > 3T e~ opfere @ @A @t
(A) 3418, (B) SehRm, (C) s, (D) Joren

>, FG HA FLANSS @G FFA Bl 2
(A) yaus, (B) yautr, (C) 3990, (D) d»ua

ser3, errfAa w3 ot A of¥se (A) off, (B) 45, (C) v, (D) »f6
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